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____is an unauthorized program
which functions from inside what seems
to be an authorized program, thereby
concealing what it is actually doing.

(A) War dialer (B) E-mail
(C) Trojan (D) Spam trap
If in a certain code, ‘ELEMENT" 18
written as ‘ELEMTNE’, then how will
‘OXIDE’ be written in that code ?
(A) OXDIE (B) XOIED
(C) OXEID (D) XOEID

Consider the following
statements about Secular
State.

I. A secular state is one that does not
establish any one religion as official
religion.

II. Indian secularism practices an
attitude of a principled and equal
distance from all religions.

(A) Only the statement II is correct
(B) Both the statements I and

IT are correct
(C) Only the statement I is correct
(D) None of the above

The average salinity of Indian Ocean is
(A) 70% (B) 36%
(©) 35% D) 30%

India ranks in fruits and
vegetables production in the world. [z g

@A) 1 B) 4 [i 5T
©) 3 D) 2

Nitin was counting g I
. g down from 32, Sumit
;%:f't . cotérntlng u&;wards the nuglbers
b olélf om 1 and he wag calling out only
the odd nuxirlxbers. What common number
aﬁjca out at the same time, if they

were ¢
HRns g out at the same speed ?

(B :
(C)) g‘g & will not call out the same number

(D) 21
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(A) Motion sic
(B) Syndrome
©) Hydrophobig

(D) Altitude sicknegg

The point on th
which is the ﬁfstsurfaCe of the earth

earthquake waves C '© €Xperience
(A) Focus

(C) Hypocentre

A alone can make 100 baskets in 6 days
and B alone can make 10 basketsin 12 days.

In how many days can A and B ¢
t
make 100 baskets ? g

kness

(B) Caldera
Epicentre

1
(A) 3 days (B) 3Ehours

(©) zéhours (D) 4 days

converts AC power from an
electrical outlet to the DC power needed
by system components.

(A) SMPS (B) Memory
(C) Bus (D) UPS

How many 6’s are there which are
preceded by 3 but not followed by 8 ?

8436790638479368694136042
A) 2 ®B) 1
© 3 (D) None of these

button reloads the’ current
document that the user is viewing.

(A) Back (B) Refresh
(C) Stop (D) Address bar

The first meeting of Constituent
Assembly was held on

(A) 11t November 1946

(B) 9t December 1946

(C) 11t December 1946

(D) 9t November 1946

Which of the following banks is the Central

Bank of Ir}éiialz e
A) State Bank of In _
EBg Corporation Bank of.Indla
(C) Reserve Bank of India

(D) None of the above
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(A) W@ﬁ‘éﬁaﬂawm

(B) wraqor

(C) Srersfiean

(D) 37T waeht sveeresmay

T AT W e g Ao A o
SIHE T Tl Trer T 2

(OREir: D) Iufdy %W
A 3731 6 ot 3 100 Srenfeart s w2 i
B 3rha 12 et § 100 Srerfeat s weman 2

A 3R B firemert fra Rt 100 2t s
THd S ?

@3t ® 3@
(©) 2%&% (D) 4Fs

T fagd TRecie & AC i 1 fRreen
o g it DC wifad | aiafda s )
(A) SMPS (B) #mrt
(C) =@ (D) UPS
TG fohem 6 8 R Te et 3 R AR o1 o1s
e ?

8436790638479368694136042

A) 2 B) 1 _

©) 3 (D) 37 @ 1§ T
_Waﬁnﬂawéaﬁgq:a’@m%
STt e 3@ @ R

(A) = ®) for

(C) wia (D) TgH IR

e T bt et Saeh o SIS T ot 7
(A) 11931 1946

(B) 9 fegsR 1946

(C) 11 fg=r 1946

(D) 9 TE= 1946 '
frfrRaa 3 & g e W T FAT IS
(A) YT €2 o

(B) TR ek 317 gfear

(C) wRdH feord o

(D) S ¥ | s T
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Inwhich type ofovule the micropyle, chalaza
and funicle are in one straight line ?

(A) Anatropous (B) Campylotropous
(C) Amphitropous (D) Orthotropous
Which day of the week will 27 February 2016
be, if 2" February 2016 is a Tuesday ?
(A) Monday (B) Saturday

(C) Wednesday (D) Tuesday

1s a situation whereby a court
of competent jurisdiction has declared a
person or other entity insolvent, having
passed appropriate orders to resolve it
and protect the rights of the creditors.

(A) Bankruptcy
(C) Insolvency

(B) Currency crunch
(D) Bad loans

is the most common way for
individuals who used home computers
to connect to the internet.

(A) Leased line (B) Dial-up @@
(C) Cable Modem (D) ISDN s

The instrument used to measure the
atmospheric pressure is

(A) Barometer (B) Ceilometer
(C) Hygrometer (D) Anemometer

In which type the ovary occupies highest
position on the thalamus ?
(A) Mesogyny (B) Perigyny
(C) Hypogyny (D) Epigyny
In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :
1. All trees are plant.
2. All fruits are tree.
Conclusions :
L. All plants are tree.
Some plants are fruits.
(A) Only conclusion IT follows
(B) Both conclusions I and II follows
(C) Neither conclusion I nor 11 follows
(D) Only conclusion 1 follows
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If the sum of n terms of an AP is 2n?+ 3n,
then its n* terms is

(A) 4n B) 2n +4

(C) 4n+ 2 (D) 4n+ 1

In ancient times the term Usara was used
to indicate

(A) Fertile soil
(C) Waste soil

(B) Sandy soil
(D) Sterile soil

Choose theword outofthe givenalternatives,
which cannot be formed from the letters
of the word ‘CONSULTATION’.
(A) CONSTANT (B) STATION
(C) SALUTE (D) NATION

Who won a Gold Medal at the 2021

World Cadet Wrestling Championship
in Budapest, Hungary ?

(A) Bhavina Ben Patel
(B) Priya Malik
(C) Kseniya Patapovich
(D) Marykom
RAM stands for
(A) Rapid Access Memory
(B) Register Address Memory
(C) Register Access Memory

(D) Random Access Memory

If ‘A’ denotes —, ‘B’ denotes <, ‘C’
denotes ~’ and ‘D’ denotes ‘+’, then
343C7D52A3B12="7

(A) 137 (B) 102

(C) 65 (D) 107

World Wildlife Crime Report, 2020 is

published by

(A) Interpol

(B) United Nations Office on Drugs and
Crime (UNODC)

(C) Ministry of Home Affairs,
Government of India

(D) None of the above
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afe U AP % n &1 1 91T 2n2+ 3n 2, ot sqaT
na'iq?{m
(A) 4n (B) 2n+4
(C) 4n + 2 D) 4an+1

Tl el | S 3753 1 FA ot gfr e
& fore su=T feman stam o ?

(A) ISR (B) i g

(©) sy fagt (D) s firdh

fau e faerei & @ wsg gfe St wisg
‘CONSULTATION’ & &/l @ i &= =11
HehdT |

(A) CONSTANT (B) STATION
(C) SALUTE (D) NATION

foraa e, €11 | fava e Fydt wfowut
2021 # U @i ygs Siar ?

@A) w3 e

B) forr afers

(C) aftan gamifa=m

(D) ¥

RAM % fore 1T 21
(A) i vy g

(B) e wgg nart

(C) toreet wagw aa
(D) &9 g unih

afe ‘A’ %1 waes ), ‘B’ &1 waes X, ‘C’ H
wATE + qLT D’ H HAws S+, A
343C7D52A3B12="

(A) 137 (B) 102

© 65 (D) 107

q¢S TTReE TIEF FEA AU, 2020 ek g

YeRTTRTA 3T STl & 7

(A) 3

(B) T U HIEH W FIH T FAT
(TN

(C) TE WATER, RA TN

(D) TF H F i 7
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Which one of the following amendment
is related to Urban Local Government ?
(A) 44n (B) 73+

(C) 24th (D) 74t

has various provision§

and safeguards in relation to detecting,
preventing and penalising corporate fraud.
(A) Companies Act, 2013

(B) Indian Contract Act, 1872
(C) Income Tax Act, 1961 o
(D) Indian Penal Code, 1860 e

Cnidoblasts are present in

(A) Porifera (B) Cnidaria
(C) Annelida (D) Ctenophora
Find the missing number.

AR AR
NPAE,

(A) 900 (B) 1099
(C) 999 (D) 949

Haryana ranks in vegetables
roduction in the country.

tAy 10 (B) 13

C) 12 D) 11

The case in which the Supreme Court

gave a decision that there is a basic

structure of Constitution and nobody

can violate the basic structure

(A) Unnikrishnan case

(B) Kesavananda Bharati case

(C) Golakanth case

(D) AK. Gopalan case

World Health Day is celebrated every
year on

(A) 7" Qctober
(C) 9* March

EIgE

i

o
T'E

(B) 7% April

(D) None of the above
Out of 100 kids, 50 are members of Team
X and 75 are members of Team Y. If 40
kids are memberg of both teams then

ho_w many of these 100 kids belong to
neither of the two teamg ?

() 10 (B) 40
W) 38 > 1
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(&) 447 B) 733
SR D) 7473

1 RS e F I T, ey
37 &fed F & gay :

g | PR T o
(&) Ft stfrfrm, 9013

(B) ¥R 37gsiy , 1872

(C) IR 1w, 196,

(D) ¥t &% wfgar, 186
freteetres g gy 3

(A) difed i B) Frere &

(C) wiferer & D) ¥

T HET 91 |

(A) 900 (B) 1099

(©) 999 (D) 949

1 % wfosra oh Ieare H ghemon R wE W 7
(4) 10 B) 13

©) 12 D) 11

I8 Awer, e watsm REISCERTL LR
o w1 w g e @ ok 21 o
AT BT T SeeTH T G

(A) IHfpwE wen

(B) FEETR STt Hre

(C) Tetehie Hret

(D) T. &. T qTHer

fove e Rem @s ad | w wmw
ST ) s

(A) 7 T ®) 7 _

©) 9ur (D) St 3 & F 7

100 I=1 A |, 50 A X F Taeg & ofw 7540
Y% wew #1 af 40 5= 9N A F wew 8, @

T @ fFaa o= ST F & Rt oft i & @
g

(A) 10 (B) 40

(C) 35 D) 15



WWW.prepp

39.

40.

41.

42.

43.

[ 5
H

i
%

44,

.in
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organmisms jg cq); laming of living

Eé; giovr:: r?datu;d B) Standardisation
Sustainabslt}; —_— (D) Identification
seek reliance ng:lent should lead to
(A) Avoiding Onti;“natlve sources.
resourceg non-renewable

depletj

above
Food and Agricy
founded in

(A) October 1944 B) October 1950
(C) October 1947 D) October 1645

Usually the email] address ig ip,

(A) Lower case B) Upper —_—
(C) Proper case D) All of these
Select the correct mirroy image of the

given figure when the mirror is placed
at line AB. A

FURNITURE E

Iture Organisation was

B
A) HUATIVIAUYT
(B) HAUTINAUY
(C) HAUTIVU AT
D) IAUTIVIAUT
Bovina spent Rs. 44,668 on her air
tickets, Rs. 56,732 on buying gi.ft.s for the
family members and the remaining 22%

of the total amount she had as cash with
her. What was the total amount ?

3 (A) Rs. 28,600 B) Rs. 33,800
¥(C) Rs. 1,01,400 (D) Rs. 1,30,000

Military exercise of AUSINDEX is associated
between India and

(4) US
(C) Australia

(B) Japan
(D) China

-7-

43.

44.

CMMS - S3
38 Gﬁa’r%mwmmmmm%
[=]% 1 [&]
e (A) AHIgy (B) wrehie
i (©) fafrera (D) e
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A) ﬁt—qaﬁmmwuﬁaﬁw%m
(B) mmmq‘gﬁé
(C) waferor &Y wagy
(D) 3WiFa guft
40. @Y UE FY G137 #) vy 4 g8
(A) TR 1944 (B) agw 1950
(C) 3TzaR 1947 (D) &R 1945
41. AW T T H BT gy
(A) B2 &l (B) =2 &} &
(C) UeeT 37am (D) 3o+
42. TS SR e ador whife wfe s ad
1 3T AB W w1 5t )
A
FURNITUREE
B

A) HUATIVIAUT
(B) HAUTINAUT
(C) HAUTIVIU AT
D) HAUTIVIAUT

ST 3 19 gad fowrat w . 44,668, whEw
% Rt % 7Y 3R @it W % 56,732 @
FAT R 3R I6h U o TR BT I 229 T
& T F o TR | et Ry o of 7

(A) ®. 28,600 (B) ®. 33,800
(C) ®. 1,01,400 £D) %. 1,30,000
AUSINDEX #1 &= starg qrag ot
2 et 2|
(A) 4™ (B) S
(C) wreforan (D) =i
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If we divide the National Income of
country by total population then we get
(A) Personal disposable income

(B) Per capita income

(C) Personal income

(D) Private income

Complaints to Magistrates contained in
(A) Chapter XIII of Criminal Procedure Code
(B) Chapter XVI of Criminal Procedure Code
(C) Chapter XV of Criminal Procedure Code
(D) Chapter XIV of Criminal Procedure Code

National Animal Disease Control
Programme for Foot and Mouth
Diseases (FMD) and Brucellosis
(NADCP) Scheme envisages
to eradicate them through
vaccination by the year

(A) 2030 (B) 2035
(C) 2050 (D) 2040

The sum of series, (~1000) + (=900) +

(—=800) + ......+ 1100 + 1200 is
(A) O (B) 1200
(C) 2200 (D) 2300

Under unfavourable conditions many
zooplankton species in lakes and ponds
are known to enter
suspended development.
(A) Conform (B) Diapause

(C) Migrate (D) Dormant
Material culture consists of man-made
objects which are
(A) Tangible

(C) Abstract

, a stage of

in nature.
(B) Concrete
(D) Both (A) and (B)

5 of a number exceeds its 2 by 8. The
number is 8
(A) 30 (B) 90
©) 75 D) 60

The largest gas by volume in Bio-gas is
(A) Methane

(B) Hydrogen
(C) Nitrogen
(D) Carbon dioxide
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(A) FafFdH T 3y !

(B) wft =afaa s

© Sl

(D) =t e
ufsegel 1 R e 8

(A) T 32 Slpa w3

(B) mmmmﬂxﬁ
(C) ST T Sfip wifeer 3 aqeary xy
D) Wﬁmﬁﬁm%atmm

ST AT (FMD) v gaeherm 2q e
q@ﬁnﬁﬁﬂmW(NADCP)%ﬁwmm
aé_amaﬁmmgmmm%l

® faiyy

(A) 2030 (B) 2035

(C) 2050 (D) 2040

& T8 @ (—1000) + (-900) + (-800) +
...... + 1100 + 1200 =T T =RqT 20y ?

(A) O (B) 1200
(C) 2200 (D) 2300
wiceget wftferfot & sfiedt o aemst § %
STAITeY ST , Feifaa o & o
T/ Y A R
(A) 1% (B) Iutfd
(C) va&+ (D) w=
e el & e Fififa s v a1,
St R R
(A) ardfa® (B) 3™ BT
© &R (D) (A) 3 (B) 3 Egd
el 1 = T 2 @ 8 e
R, 98 wE § 3
(A) 30 (B; 28

D
%;iawmmm_(_ﬁaﬁﬁ'
(&) #eT
(B) ETEGIH
(C) TGS

(D) FTal SEIATHTES
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rsl;‘ﬁgof%";’;io Ai) and B are 60 km apart A

of town A, 5 e built to serve 150 students

otal st 0 students of town B. If the

students is t?c? EEZ :: gﬁviued by all the 200
p :

where should the school b: ?)Sﬁfs?lble’ then

(A) In town B
(B) 45 km from town A
(C) In town A
(D) 45 km from town B

:VSEI"SIi %r;z:légé;ed Movement (NAM) Summit
(A) Azerbaijan (B) Sri Lanka

(C) Bangladesh (D) Pakistan

Ifthe 25t of AugustinayearisTh uisday,
then number of Mondays in that month is
A) 3 B) 6

©) b (D) 4

Thermal decomposition of lime stone

produces

(A) Quick lime
(C) Marble

In open groups mobili
A) Restricted

(B) Relatively difficult
©) Possible

(D) Both (A) and (B)
The number of permutation

(B) Lime water
(D) Slaked lime
ty of members is

sof the letters

of ALLAHABAD is o
A) 9! @ 9  =sE
2(4")
9!
() B ® 7
3! ‘
___iscalled the brain of the comp uter.
(A) CPU (B) Register
(C) Motherboard (D) Memory
9:8::1617
(A) 14 ®) 27
©) 17 (D) 18
The British brought the Police
Commissionerate System first in
(A) Delhi B) Bengalurt
(C) Kolkata (D) Bombay
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C) = AT
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(A) FSTESTH (B) #iciehi
(C) areTed (D) TfeREd™
aﬁqaﬁaé_ﬁ%mg{m%ﬁt,aammﬁ
gan @i gl !
A) 3 (B) 6
(C) 5 D) 4
3 5 TR T ST A
T Bl
(A) TorTegT =L (B) = 1 A
©@mm O T
qéan@ﬁaa@ﬁa‘%rrﬁmﬁw 2|
(A) foafea
(B) & Hiod
(C) |vd _
(D) (A) 3 (B) &1 )
ALLAHABAD%amﬁ%wrﬁaﬁw E%
i e A3
@A) 9! ® 9
2(4")
9! 3
(©) 5 D) 4
SHRpel 1 AP gl 2l
(A) " (B) e
(C) TEEre (D) B
9:8::16:?
A) 14 B) 27
©) 17 (D) 18
fmfew SRt Tt o T —
T (B) ST
A) :
©) (D) T
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A triply ionized beryllium (Be®) has the
same orbital radius as the ground state
of hydrogen. Then the quantum state n
of Be®* is

A n=1 B) n=4

C) n=3 D) n=2

How many delegates participated in the first
session of the Indian National Congress ?
A) 15 B) 84

© 72 D) 43

India’s first ‘experimental’ smog tower

has been set up to purify air in a 1 km
radius around the structure at

(A) Varanasi (B) Mysore
(C) New Delhi (D) Chandigarh

In a row of boys, if A who is 10* from the left
and B whois 9%, from the right, interchange
their positions, A becomes 15% from left.
How many boys are there in the row ?

(A) 23 B) 31

(C) 28 D) 27

In a mixture of 60 litres, the

ratio of milk and wateris 2: 1. If

the ratio of the milk and water

is to be 1 : 2, then the amount of

water to be further added is

(A) 20 litres (B) 60 litres

(C) 40 litres (D) 30 litres

provides the highest quality

text and images for personal computers. |

(A) Drum printer
(B) Daisy wheel printer
(C) Laser printer
(D) None of the above
It is one of the important outcomes of the
globalization process
A
B
C) Disinvestment
None of the above

The minimum percentage of deposits that
needs to be maintained by commerci
balleks in the form of liqui assetsf cash,
old, government securities, etc. refers to
?%g Cgash Reserve Rate

Statutory Liquidity Ratio
0l

Outsourcing
Industrialization

Reverse Repo Rate
None of the above
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E35m

A) n=1 B) n=4 {Es
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gfaffert 3 s fer o 7
A) 15 (B) 84
(€) 72 (D) 43
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AeH! il T dfFa # afe A S and & 104 aix

B3¢ & 991 2, 379 # T seed €, @ Asnd
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A) 23 B) 31

(C) 28 D) 27

60 et & firsror & g SR arf ot g 2: 12

afe g9 3R a1 37U 1 : 2 €1} @ ur

1 7T SR fahaeT e st ?

(A) 20 & (B) 60 efiex

(C) 4oﬁaﬁ§. 2 (D) 30 &ftex s
3I=TdH

@) gfie

(B) st =g fex

(C) o firex

(D) 3T o & 18 7

TR e Wik o Wt o B

(A) af& Hra=

(D) I § & 13 7
T FUf, T3, EHT, GO f arrfe &
w9 & T F wiywa @t EC
BT AT 1@ &1 SEvaha] 2
@(g;mamf‘mat

T ST
(C) fed iz
(D) IFea | & F1E 7
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70.

71.

72.

a2in

73.

74.

75.

76.

In October, 2021 wo

EEtoSl 4l rld’s largest Khadi

(A) Leh A8 Was inaugurated in
C) K (B) Chandigarh
(C) Karnal D) Jarms

is often used if i
: : 2d if the or 3
1n some suitable solvent it
(A) Benefaction

(C) Dressing (B) Froth flotation

(D) Leaching

WhICh pattern
most
the following pattern ?Closdy resembles

[

. - N d
=|le]iw
@A) c (B) d -
(C) b D) a

If on a I_narked price, the difference on

selling prices with a discount of 50% and

two successive discounts of 20% and 10% is

Rs. 72, then the marked price (in rupees) is

(A) 3,600 (B) 2,400

(C) 2,500 (D) 3,000 Eie

Cyclical changes during reproduction in

dogs are called

(A) Asexual cycle

(C) Sexual cycle

When did Mammals evolve on earth ?

(A) 400 million years ago

(B) 50 million years ago

(C) 500 million years ago

(D) 200 million years ago

What is Disguised Unemployment refers to?

(A) It is a situation wherein he
number of workers 11 a job is less
than required to do the job

(B) It is a situation wherein the '
number of workers in a job is more
than required to do the job

(C) Tt is a situation wherein the - . "
number of skilled workers in aJO .
is less than unskilled workers to
the job

(D) None of the above

(B) Oestrus cycle
(D) Menstrual cycle

11

70.

1

72.

73.

74.

75.

76.

CMMS - S3
arazer 2021 #, gfan % wad @18 @l s
€21 oh1 IGHTE el (T 7T 7
(A) &7 (B) =¥
(C) HHTA (D) S
Eal mﬁﬂ g1 ® afe s e

I farermas W faerasfie a2
(A) STHR (B) = ferrd
(C) ufem (D) ferer
2t 7 e enFtadl § @, 9% sngla g e
e Arpia gl & /et 2|

LY ¥

a b c d
A) c B) d
(C) b D) a

afs sifd Ted W 30% 1 L 3N 20% T 10%
1 3 FHTTA G % 1Y T e AR E. 72
2, 3if¥Fd 7ea (vt #) ®E 7

(A) 3,600 (B) 2,400

(C) 2,500 (D) 3,000

el & Yo o A Ao qREd

FEAd &
(B) $ug@ I

(C) ifireh =ik (D) e ¥F

qedf} W EAuTRET o T e ga ?

(A) 400 firferm ad

(B) 50 fferg= ad

(C) 500 faferr =¥ g

(D) 200 fifera ad &

TeE A0SR & 379 TR 7

A) 7z uep Ot TR 2 Foredl o F F
%Qﬂﬁﬁaﬁﬁﬁé@rmmﬁ
4 Bl & .

(B) 7 T Vet ferf 2 foredl o wHE A
£} ST @ AR 7 A i aeT
S ICERIGIA] _ .

© %@@@ﬁ%mﬁwqﬁ_wﬁ
Mﬁma@wmﬁﬁm

(D) I A 8 HIE T

X20
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Direction (77-79) : Study the given information
carefully and answer the questions that follow :

I

11 %
III.

IV.
V.

71.

78.

79.

80.

81.

82.

83.

X20

A, B,C,D,E, F and G are sitting on a wall
and all of them are facing east.

C is on the immediate right of D.

B is at an extreme end and has E as his
neighbour.

G is between E and F.

D is sitting third from the south end.
Immediately between which of the
following pairs of people is D sitting ?

A) AC (B) CF
(C) CE (D) AF ;Eéj’%;
Name the person who should c%ange
places with C such that he gets the third
place from the north end.

A E B) D
© G D) F

Which of the following pairs of people
are sitting at the extreme ends ?

(A) FB (B) AB
© CB (D) AE
The difference between the value of exports
and value of imports of goods of a country
in a given period of time is known as
(A) Balance of trade
(B) Capital account
(C) Current account
(D) Balance of payment

The number of significant figures in
11.118 X108 is

(A) 3 B) 4

© 5 D) 6

The standard protocol used for sending
e-mail is called

(A) http (B) SMTP

(C) telnet D) ftp

When money supply exceeds available
goods and services, it leads to

(A) Inflation (B) Paraflation
(C) Hyper deflation (D) Deflation

CMMS - g3

frsgr (77-79) : T3 T AR Y Svemem
frerfrfaa wed &1 I AR

L

1L
III.
IV.
V.

717.

78.

79.

80.

81.

82.

83.

-12-

ABCDEFsﬂzG@?ﬁaW Eo
3R q@ T 93 B ®

C,D & T aM

B TF B W & 31K E 351 veie 2

G, EsmFF g

D zféft s & die 2

frafofaa § & ‘ ;

DR ? hakibl Shok

(A) AC (B) CF

(C) CE (D) AF

34 TR 1 A1 F1ET ST C 1Y 36 TR A
a1 § foh I8 30 BR @ fieR T W@ )
A) E B) D

© G D) F

frfeiad & & @rT &1 -1 g Rl w
FR?

(A) FB (B) AB

(C) CB (D) AE

e U e H § wen v sht aegedl & fata ok
31T % qedi o 3 FEATAE |

(A) SHTIR FgeH

(B) dsft @

(C) =] @ret

(D) T HgeH

11.118 x 10-° H Weeaqui 37ehi i G &
A) 3 B) 4

©) 5 D) 6 ?]%
-0 WA & forw wee Wdee
FEAT 2|

(A) http (B) SMTP

(C) telnet (D) ftp

ST gAY IueTey Feqel iR daredl @
aar B 21

(A) gERIfY (B) wtrEhifa

©€) Jftamwd®fy (D) by
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8. Who improved the theo
(A) John Kepley
(B) Titian
(C) Michael Ange],
(D) Jackot Nufey

ry of Copernicus ?

. The H.C.F. of (x3 + 2 ; _
o A) x*-1) (x2 +x1; RS
B) x*+1) (x + 1) (x* + 1)
©€) x+1)(x2+1)
D) x+1)(x*-1)

is an electromechan: )
that allows the user tg feléar;ﬁ}m?;&ﬁ
into the computer for analysis, storage
and to give commands to the Co’rnputer
(A) Memory device '
(B) Output device

(C) Input device

(D) None of the above

87. Select the correct combination of opposite
faces, when the given figure is folded to

form a cube.

86.

6
[1]5

2

[3]4]
A) 1,6 @) 5,3
©) 3,4 D) 5,2

88. Which of the following States has launched
sur  Vatan Prem Yojana’ ?

%?? (A) Haryana (B) Punjab

" (C) Gujarat (D) None of the above

8. The primary memory is also called the

(A) Secondary memory
(B) Virtual memory
(©) Main memory

: (D) Registers

U If the radius of the base of a cone 18
halveq, keeping the height same, what
1 the ratio of the volume of the reduced
one to that of the original cone ?
A)1:2 B) 2:4
© 1.4 M) 1:3

84.

85.

86.

CMMS - S3
Frofiea & faera o feras gur fear 7
(A) STH R
(B) 2™
(C) Prket Tfsre
(D) Sifele TH

(x3+x2+x+ l)3ﬂI(x“—1)3ﬂW€ﬂW
guTIade 8

@A) x2—1) (x2+ 1)
B) 2+ 1) (x+1) x*+1)
©) (x+1) (x2+1)
D) (x+1) x*-1)

X & g1 1 faveryr, HEROT % forg wfee
F el & 3 FO FI AR (FATE) 2t B
(A) TERT gfaa
(B) STaeh gfaFd

-‘EL,"’".E-’(C) T g

SRR (D) I § | IS T8 '
87. & €1 gd oTfd I U ¥ % €Y A WiST I,
at faaid wereht 1 T I g
[6]
[1]5
2 )
3]4]
A) 1,6 B) 5,3
© 38,4 D) 5,2 .
88. fmfetian @ & fore o 3 9o I A gt 7 y
(A) =famm (B) USTE
(C) T~ (D) 3I7d A A HIE 7l
89. wrufie AN +ft e 21
A) fadtaes a9
(B) T AERY
(C) T AuRt
(D) Toreed
90. 3% TH IF & TTum oY firsa Y ammem e R
ST, I Y EAH T@d gT, W2 g N
TG T G T % ST & YT 41 8 P
A) 1:2 B) 2:4
©) 1:4 (D) 1+3

-13-

X20



www.prepp.in

CMMS - g,
s |
. Te=et s
English Language T E 7
91. {)n the following question a sentence }é?us 96. Tl ¥15 fere :
een given in Direct/Indirect speech. G Teat
Ohut of the four given alternative}?. Selec; (A) 3 a1ef I
the one which best expresses the sam ; "
sentence in Indirect/Dilt)'ect speech. B) Fm w=ai & wF & wrfir 3 B 3
Aparna said to me, “I have been dancing T TEAETe yieat
{?\3 tXO hours”. ) © Pl e o
parna told me that she has been ; ¢ Foe
(B) gancjng folg two hOUl‘S 4 . (D) 3={ﬁ @ _‘ﬁg qg? E}ﬁl
parna told me that she was dancing g : )
for two hours 97. o Tl Y G T e 2
(C) Aparna told me that she is dancing
for two hours (A) HTHT T49TeHT
(D) Aparna told me that she had been
dancing for two hours (B) g fe=dt =gmem
92. Inthese question, there arefouralternatives
following a word or phrase given as the key (O) Tt areraite s
term. One of the alternatives best explain .
the meaning of that word or phrase, spot (D) 578 & K 7
the correct alternative. ) :
FLIlé/ISY 98. w1, wETM, fagrew 7R fma weg fém, g
=S (A) Sturdy (B) Fly -
(C) Firm (D) Weak REFR__ & YR W €Y T5e 3]
93. Fill in the blank with right form of .
the word (given in bracket) from the (A) =FsH
alternatives given below it, B) el
A united egfort is a con}(]iitior)l for the (B)
of success (achieve). C) X
(A) achieve (B) achievable ©
(C) achievement (D) achieving D) 9 d FE 75
94. Fillin the blank with suitable concord
from the alternatives given below it, 99, %&* IET = gEg 1 &1 FeE 2 |
Not only the principal but also the L
students ______laughing. (A) T
(A) am (B) was B
(©) were (D) i S
95. The following sentence contains ©) ?&i’
grammatical error or idiomatic ;
error in it. You have to find oyt @) ¥ 3 I
that part of the sentence and 100.  “gfea WE@TE:{‘ a79f 2
choose the alphabet of that part ' & —
ia_Is, your alnswe;. i s (A) grTFg fame 2y
e complained about headache after ERA
E'Xz)idﬁng the zir'gicl((ei. é],,%%% (B) =ga v
e complaine =
% the article ©) Ty g
after readin N
(D) about headagche D) w7 & FIE T

——

X20 A
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- " Mm‘ - .
: code of Crimindl | L N T %
1. t"\\“hi‘hﬁmm?ifmk\\-wufﬁ ot weich ﬂmti“ “_‘“h g
T ot and Sesons adges Y BUSS P SRR N
A) Section 2§ of The Code of O (A) T viem wiem, 1o
Procedure, 1973 G MR
(8) Section 24 of The Code of Cim¥ @ wxinsRe e -
Procedure, 1373 : o 2q
(Q) Section 23 of The Code of Ormin¥ Q W INERE, 1973 QW e
T : D) ¥x VR W
(D) Section 27 of The Code of Crimind Lt MV w
Procedure, 1973 __ 2 ;&S)mwﬁ&&c‘uuﬁ““ 3
2. H()sixpersonsA, B C D Eand Fare standng =2 _mggm“iﬂmﬁ
in 3 circle, RO necessarily in the same droet wc%Mitlri ESR DR By n:*r
(¥) B is between F and C. (W) A & detween £ W FED = ER ey
and D and (V) F is to the left of D, which of the R e I W adk
following is between Aand F ? D “\P;‘R
@ 2 (8) ¢
()83 (D) 8 : Y e
3. The seventh term of the sequenc® o ‘a ~=§~;\~.'““n we
B2V, - A 28 (8) 147
W V23 (8) 147
| (© 243 © Vi 0 24 © e
& Microsoh Excel containsmany pretfinedor | & ISR TR ¥ W W-vhwite w
 builtin formulas, which are known 8 R-EREWRERR st
(A) Relative referencing (B) Funcions (A feRsRm )
(C) Autosum (D) Formating cells (€ =rsm ©)
5. When Akbar set up the Mansabdan system ? 5. NS WO e ww gRy R ?
(A) 1577 CE. @) 1SMCE. (A) 1577 vt (8) 1574 T
(C) 1571 CE. (D) 1578 CE. (@ 151 7R (D) 1578 ¥
6. If the surface area of asphere 5 1 XsQ. m, ¢ RiTRuwIwTurwF @
then its volume (in cu. m) is T R (Wi ) @
(A) 300 x (8) 316x (A) 300x (8) 316x
(C) 188 =% (D) 288x () 188x (D) 288x
7. The economic reforms of ‘open door” policy | 7 W N W AR S fls R R
was introduced in China by s Rgma? pEE
(A) Sun-Yat-Sen (B) MaoJse-Thung (A) T-T- (8) Wel-W-u
(0 Tfweia (o) Raf A

(©) Deng Xiaoping M hh A S - '?-
g jewmiszlwmnpdwt o el
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a2
ﬁ‘ﬁj ( rAy g

I.a
10- Preferenty spending on facilities for 16 T L (O X I AT
l|r\.!|.l'\..1r|l.'ll'.|-‘| i |1r”|'"|||'||1'll"\ 1% a0 1! Kl Vg, Ly . M
UNample of i . ]
{ I NI -tery
A !l:ql.illl\ if Opportunity (A} REL | I‘ i
(R -\fhr-”,.mr. action (y) M PN G R
(L] "-11-”‘4:'1[-\. ) TR NUEAL
(D) None of e above } )bt B b At
11. Larva of (ol = [ty LEd ‘
i “1“!‘; COtern s known ..1\ 11 1l ,1”1_#! bl 2Rl " ¥ IJ l w
5 Mrub “” Crub A) a4 rI;J. S

12. TI“ o 5 l:[)) Puppa “‘l Hr_l’ g ; >
3 € smallest fye digit number which is 12. it i AR IE LA AR I 3 S
divisible by 12 1R Siet 33 + SN 3 i P

(A)Y 1033 ’ and 21 js f el 2, ' _
\ i 4L._.-1 fﬂ] 30256 lﬂ)jd “'J '-rlf.=4

13 o g (D) 50321 iﬁi 10080 () 50321

. Compy : % [ & He H 96( e 15

2 _._;n.mto the heat Benerated while transferring 13. oV frm«ud_: ERE 36000 K
~©000 Coulomb of charge in one hour through e AT Bl atlefiiet hid wua
patennal difference of 50 v ?#4 st ) TTAT |
|A) 3.8 x 104 ) (B) 4.8 x 10% ) (A) 3.8 % 10“] (B) 4.8 210 |
i€} 88104 (D) 3.8 10°J (C) 4.8%10°) (D) 3.8 10°)

14. The ratio of milk and water in 66 litres of 14, 6 @l figenadl g4 H rg.” i r“fT R
adulterated milk Is 5 : 1, Water is added to it s 51 -8 | fqut‘.ll T#*?f 5:34% ".-L[J'H'f H =414 & 1.4
t0 make the ratio 5 : 3. The quantity of water | gt Falt arft Y ween grefi s ?
added 15 " ¥
‘Al v e 4.750 Az
(A) 16.500 litres (B) 24.750 litres « %) 16,500 efle (B) 2 L
(C) 22 litres (D) 20 litres ' (c) 22 «fiex (D) 20 =fret

15. The code name of nuclear bomb dropped by | 15.  s@ft gr ArTETEhl o€ frT MO WH Ew

America on Nagasaki was FT2 19 #1971 7
(A) Fat Man (B) Little Boy (A) 2 g (8) fetzet ait
(C) Little Baby (D) None of the above (c) ferem ==ht (D) 39U 8§ F13 47
16. Which number will come in the place of 16. 9 o o T W F - wea s -
question mark ? g Bl T

3,4,13, 38 87,? 3,4,13,38, 87, ?

(A) 166 (B) 164 (A) 166 (B) 164
(C) 168 (D) 162 (C) 168 (D) 162
17. In Excel, referring to cells by their column and 17. RS o Fieq 3t Q Ssled FEGED b EA
row labels is called FEAT R |
(A) Mixed referencing - (A) Tufig dey
(B) Relative referencing m (B) WM& e
(C) Absolute referencing M (€) qui Han
(D) None of the above (D) Iy 1 1 76
18. Which number will come In the place of 18. 4 » ?
question mark ? P -—-:h-;i W“ﬁ"- gt el
|8 12 18 12 18
0 . .
[20 30 ? T P =
W 40 B} 45 (C) 50 ‘3’ 35
c) 50 D) 35 (D)

Y’ -
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21

24,

5. 100x10-1

%,

t, he ¢
gl’ , urned
ard®
a 20 tow rurﬂ"dd'“'" right
peepy wﬁ‘lhfd 19 m.ﬂ“m qunc right and
36 m. He :m he fro™ his Starting

(0) None of these

ble cancentrates (EC) is
(8) Endosuphan

carbaryl (D) Cypermethrin
c) (3
( er of men can finish a plece of work in

e were 6 men moré. the worg
10 days less. The original

x' numb

30 days. If there W

could be finished in

number of men is

(A) 6 (8) 10

(C) 15 (D) 12

PC SECt‘ion z

ich among the following | i

gral:ed ?o Offgnces Relating to Elections ?

(A) 354 (B) 509

(C) 498 (D) 171

international Day of Non-Violence is observed

every year on

(A) 1" October
(C) 12* October

(8) 2 October
(D) None of the above

The magnetic field inside a long, straight
solenoid carrying current

(A) increases as we move towards its end
(B) is infinity

(C) decreases as we move towards its end
(D) None of the above '

m"'2000+100=?

(B) 920
(D) 979

::h‘”‘ from an:n“: :a?ns a palette of
cell 3 ba select a colour

%'L""t“l the :E:::: shading to the
g o Dbk, I OF 10 ay

(A) 780
(C) 29

N oz
o4

19,

20,

21,

o
N

572

4

x>
]

23,

24.

25.

26.

fLrsivan ool r R
() 3 FHz (d (B})*mt

(€) Tl (D) wrrwir

W R x T 30 Rl e ey

6 3% 3MR 8, T 78 +d 10 f Wgﬂa:p::
ST | e ) e e :
(8) 10 %2

(a) 6
(€) 15 (D) 12

P 7 3 w-ef smé
it woeh 3 G a T T I

(A) 354
(c) asg o) 1

sy i sfdm Raw w9
ST g ?

(A) 1 Fagart (B) 2 37

(C) 12 3R (D) 3w d & #i¢ 7

g a1 o o, Wt ol ¥ im
qahg aF 2

(A) S-S &9 3id ) 3T, 9 Tgar
(B) 3= ®

(C) S-S 70 37d <t IV §, I v R
(D) T 2 o 3 €

q.\
100 %10 — 100 + 2000+ 100 = ?
(A) 780 (B) 920
(C) 29 (D) 979

aﬁaﬁﬁﬁ@uﬁmmtmi
T R T T 9 S T §
oTRifiee FT g TG |
(A) OTI%A T
(B) WaTIT

(c) srar wroft
(D) o™
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27. In this question, two 5td
followed by two [,'Ill"lf'l.l':iﬂ |
conclusion(s) which best fit(s) lo

Statements :
1. Allice-creams are irons.
2. Allirons are isotopes.

Conclusions :

[. All ice-creams are isotopes-
Il. Some Is0topes are ice-creams.

(A) Both Conclusions | and Il follow
(B) Only Conclusion | follows
(C) Neither Conclusion | nor Il follows
(D) Only Conclusion II follows
28. From the given answer figures, select the

one in which the question figure is hidden/
m;ra: €mbedded. (Rotation is not allowed)

(A) ﬂ (B)
(C) H_ (D)

28. EDI stands for
(A) Electronic Data on Internet
(B) Electronic Data Interchange
(C) Electronic Data Introduction
(D) Electronic Data Information

tements are piven
ns. Choose the

gically.

y.id
yis

30. Which of the following countries is not
the permanent member of United Nations
Security Council ?

(A) United Kingdom

(B) China

(C) India

(D) United States of America

31. Cancers which spread to other parts of the
body and proliferating are called as
(A) Inactive tumors
(B) Benign tumors
(C) Malignant tumors

(D) None of the above

32.  Atrain, 240 m long crosses a man walking along
the line in opposite direction at the rate of
3 kmph in 10 seconds. The speed of the train is
(A) 86.4 kmph (B) 75 kmph
(C) 83.4 kmph (D) 63 kmph

CMES -S4 |
oA T2 i BT e o v S
27. 5y uﬁ.ﬂf:rw,ri AT AL AR b 5o T s
g 14
SRR A

g
1. 8% o w14
. gl
; @
: . i i £
fard AT AT F
j, @ A AR Bt 2D AT
“ ml - - " r 5
ﬁﬁ““ L 2T SHHT g
(A) Wf.{f:&.'i | S-{HI Ry @
(B)

N iﬂ'i | Y A 1) s e 3
39T -

ATEHFTH AT 2
A d

(D} W::%:’:TI :-'{:q:i‘ ;Z;l!-: -{ié't Eeser 174
28. 1”;{:;11 %/.]_I{L”h’.r{ Z (3qur +£1 ':;&.{:.';.r g &
=
B
() 9
———
29, {dmE. FAGEAR
(A) oIS BT21 A1 52742
(B) FerRgIT=h STEl 2L
(C) SR STT FTSHITA
(D) TS B2 FFHHIA
30. frafafiaa § @ S\-w 29 G g gren
ftee &1 o gem FE R 7
(A) FATEeE férey
(B) =
(C) ¥
(D) ¥gF U=y anifE
31, %a%wﬁwﬂt%am W e & 3 AT

32. 200 M Wit v 3

e 3 v e 3 e
Ak TRFH R | 3yt ” 75 farst 910 2 !?"%?g
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33. InH T
FA} agrannj, G.D. Goenka University r_mmm, at 33, el if o), 41, e Falaenom g B
(€) Jind ({S; ﬁﬂ'mm V] e (1) 1o !
34. With Rs. 1,000, one can buy 4 ).'u'lu of Sl ' 1) hen
or 8 shirts. What is th:g '"Hotnti r'm uimilmusf-rg. 34, &, 1,000 41§ 4 a0 e an g vl g g
3 pairs of trousers and 3 shirts ? 5 i 3 it el varegt ol 3 b ) b ey o
{?]] E: ;;2 (B) Rs.562.50 (A) b. 750 (1) & %62 450
ek (D) Rs. 1,125 (C) %. 375 (D) B 1,125
35. Political Rights include arfeRivee i X it anfirer & {
(T ke to ot el _ 35.  usrfifaa sivianl 0 2niie &
(B) Right £ voe est in the election (A) g1 crgd i sibian
[C) Right to elect representati (8) i-‘\fr.‘({lfqi‘l~:j,‘".l'._l"]m' 2
(D) All the above bl (C) _sld‘:kuui AR R U
36. If in a certain code, ‘CHANNEL i ; (D) JT‘{ |_-!hn - o
XSZMMVO’, then h b |sPWr|tteE1 as 36. U fAfged e o afd CHANNEL 1 'XS5ZMMV(;
et den ;)w will ‘COMPUTER’ be fRran stran &, o) 3@ e 4 'COMPUTER 4 Ay
(A) XLNKGFV| | il P
(C) XLKNFGVI (B) XLNKFGVY o (A) XLNKGFVI (B) XLNKFGVI
Rl b X (D) XLNFKGVI %& (C) XLKNFGVI (D) XLNFKGVI
. en phenol is heated with . 5 ;
benzene is obtain: i #: mmﬁﬂ ! S h q i fna o
(A) Zinc dust F (B) H.SO 5, ot ST Bren 8 |
4 A) STEIT
(C) Nickel (D) N; Cr.0 A ﬁmq?f (8) H;30,
38. The book titled ““The India S : zh? e bl
. ed “The India Story” authored b . g " R .
(A) Y. V. Reddy (B) Bimal Jalan il B (:) i E‘fm - s GEcteh oh ol
(C) Raghuram Rajan (D) None of th 3R (8) famer wirerr
’ HE p o (C) T T i 203
39.  Who carved the Sphinx in Egypt ? 39, f v o (D) 3tk 4 Q 1t 4
(A) Amorites ) A rian T 3 fea B e o 7
(C) Papyrus (D) None of these EC: ‘I‘Pﬂﬂta (B) srefifau
40. Everybody in a room shakes h i (D) %18 @ g il
d
sﬁggqu‘églsa The total numbe?'no: h":::g 0 Eﬁa? ik Eﬁﬁw@i q @ fiern B | o
ol roo:: > The total number of persons in . $ o U 662 | TR A Al ) -
(A) 13 ®) 12 > HA@T%
(C) 14 D) 11 S EC) 13 (8) 12
41. Which of these is not a primar iear s ) 14 (D) 11
(A) Phytoplankton y producer 1 41, Fr=fafem 34 - Jaqeh B 7
(B) A &
(C) Trees (D) GSCarls (A) STefta qie) (B) wEHfw
ra
42. By default, Microsoft Powerpoi » (c, 3&1 (D) "™
presentation file is saved with GG : e %‘ETRET{T, mm (2003) g{-gﬁ!
(A) .doc " —_ extension. HTg fereemon 3 o @ g g |
(C) .JPEG (D; Axt (A) .doc (B) .txt
43. " Complete the follow o Sl gt ca
Bgm 11:1219. . 'Ng analogy, 43, Frofes awegar gof FIRC |
) (A) 9:729 11:1210:: ;
(C) 8: 448 (B) 7:1029 (A) 9:729 () 7:1023
Y9 (D) 1216 (C) 8:448 (D) 6:216
ﬁ & c \ . -6- ) 3 \ ,ﬂ.
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45.

46.

47.

48.

49,

50.

p.in

Typhaoid 1s caused by

(A) Anabella ryph;l

(B) shieqella typhi |

(C) plasmodium fﬂ.l'c_.'parum

(D) salmonelia typhi

cine manufacturer is
(B) Russia
(D) India

world's largest vac

(A) USA

(C) Brazil
In India census is carried out once in
(B) 10 years
(D) 5years

(A) 01 year
(C) 02 years

Consider the following statements about
pradhan Mantri Vaya Vandana Yojana
(Scheme).
. This is a scheme offered by the Life
Insurance Corporation (LIC) of India gives
a guaranteed payout of pension at a
specified rate for 10 years.
I It also offers a death benefit in the form of
return of purchase price to the nominee.
(A) Both the statements | and ll are correct
(8) Only the statement | is correct
(C) Only the statement Il is correct
(D) None of the above

A theoretical perspective based on the notion
that social events can best be explained in
terms of the contribution they make to the
continuity of a society is
(A) Functionalism

(C) Culturalism

(B) Relativism
(D) Socialism

If you want to type in capitals, activate the
key by pressing it once.

(A) Caps lock (B) Ctrl

(C) Alt (D) Shift

Three different positions of the same dice are
?hown. Select the number that will be on the
ace opposite to the gne showing ‘4.

BOE

(B) 2
(D) 1

(A) 3
(C) 6

.

aa,

Prgs ——— REEAURERTIE

%F@ (A) 'r,”;ée-'r'fn crgh)
NG (B) gﬁf}am CAER T

45,

46,

47,

48.

49.

50.

(C) AraIEaH hiesiiy
(o) aresi et 2ish)
fiyw o1 T8 9121 AR Lo

(A) 7,28 (B) +y

(c) A (D) g

g A A B U e 5 i
T——"UNT S ] Wt g

(A) 01 @9 B) 1028 '

(C) 02 (D) 5 ax

e TS A () % v i

frfarfaa FE W fEm ik |

|, T8 ST Sfte sften fom (um,
Cic RGRCIRIECIE &E ) &oaﬂﬁﬁﬁ
farféee T UTM % yram ) mid 2R
11, 7@ AT R 3 e ) araeh ¥ s
eg ey i AR |
(A) e | 3T 11 3 T @
(B) el HYA | A @
(C) Fae FuA || T B
(D) 3T & § FI§ TE
TR ST ) FHTS 3 fAtatan o 3 g fohy
T AT % Fa § Hala &9 § THE S HH
¥, 39 amo W st weh Ao TR
(A) SETEATE (8) Frifefarsn
(C) wFfare (D) WHTSETR
3% a7y Hfree a1 § 2fFa o =T 8, A
oft 1 T W e 39 w3
(A) Caps lock (B) Ctrl
(C) Alt (D) shift

ww TR A A = et anfd w # | wen
4’ T A1 B ¥ Rl wer @ fRad aref

PO Y

(A) 3 A B) 2
) 6 i

Y9
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55.

56.

57.

Y9

[
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nia for invesUgating ang
E— . a5 wnite-c0lar crimegy

~vestigation Office

€} oy th b
) M) -,‘: ,h
ti igy
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1
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i
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m
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—
=
m
o
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L& B ¥ |
'
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(F]

(Y]
]
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(B) On-screen show
(D) All of these

Zons der the llowing statements about One
Naton One Ration Card.
The scheme is aimed at enabling migrant
workers and their family members to
3uy subsidised ration from any fair price
s70p anywhere in the country under the
Nztional Food Security Act, 2013.
IL. The system identifies 3 beneficiary
through biometric authentication on
ePoS devices at fajr price shops.
(A) Both the Statements | and || are correct
:;l Only the statement | i correct
= S::f‘ethe Statement Il is correct
of the above
m; fBument below and answer the

Argument : ¢ she |

el Oses, she wi ;
Selmﬂu-opnon that is Iogi:“ ;:, -
did not lpse 'Cally consistent.

(C) spe Won. she oy~ 12 N0t win
(D) sh did not win, ¢pe did
e did not lose, she wg:“t lose
was
(A) Ali MT:,::T“&sadsum Badshah ?
(C) Ibrahim pg; Shah || (B) Ajj adil Shah I

(D) None of these

O =
i
n

]

slices

-8-

51,

52.

53.

54.

55,

56.

57.

CMEs
] - T '
- 3am ) AW 3 fuy Hetedy
— Tl Y f"ml ATt @y i
(A) ity (8) a0
(C) whafy (D) :t:
N R g ;
FATT A A ) D
ek T frgs s

(B) wiiefig ey f

(C) &4

(D) Wity w27 §5
RIS /a9 i wifage

STETUE F Hmei A i i émn el

foru fondiem 2 |

(A) dt.oE &,

(B) vfR wray<) witw wrten

(C) =it .ft. a8,

(D) gfera

TIeYTE= A9 )

R & o e |

(A) ¥ (B) 3H-BhH-7

(C) 35 mmT@EEE (D) A mft

T T T 19 18 & an & =il s @

fmm =)

|. % AT T @ geen sffem, 2013
& affa 3w 4 wel o vt 3f T 6
FH Y T Gl § yand
FITRI 37 3% AR F Tew 91 aan
T T S Al R |

I 78 ot 3f e it gl T e
Il W A dufew & mem§ @
el <l TR A B |

(A) e | 3R 11 A1 e .
(B) Fact e | A & b
(C) haet A || T &

(D) ITU | ¥ IS TE

Preaferfta w01 w3 e 1 3 AR

=S4

Arerfy :'J‘F.f (i my aqré 3
Ve a.;J

I T =

) st e (8) it
(€) WWW" (D) -ﬂﬁ
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58.

59.

60.

61.

62,

A painted cube which s ot

mto an g,
preves of

LI smaller with vy,
ot cuts Now howy vy sonvalliy ey
no F\,l-m'lr.‘d face ?
(A) 434
(C) 343

lonn )
LLRNARY FTie
£ "I-I\_'u
T RERT
(D) aga
wWhich one of the following place s Knowp fon

Chintaes ( loth

(A Burhanpui (B) Masulipatnag,

(D) Dhaka

Which of the following Committee has beey
conshituted to make suggestions on regulation
of Primary Urban Co-operative Banks (UCHS) ¢

,'.:1 Calicut

(A) Shashi Tharoor Committee
(B) 8imal Jalan Committee

: ; (=13 W
(C) N. S Vishwanathan Committee P,

[=I'ny(=]
(D) None of the above

It refers to the marriage practice in which the
members of a group marry from within the
group members
(A) Exogamy
(C) Endogamy

(B) Hypergamy
(D) Homogamy

Read the data given below and based on it
answer the following question.

Six teachers namely, Abhijit, Binod, Chandan,
Dinesh, Emraan and Farhan have been
scheduled to take Mathematics classes on
Monday to Saturday for only one week.
Each teacher takes classes on different days.
Number of classes they are allowed to take

are 2,3,4,5,6and 7 but not necessarily in the
same arder,

Binod takes 5 classes but he is scheduled to
take class neither on Monday nor on Saturday.
Abhijit takes classes on Wednesday but not
3 dlasses. The teacher who takes 7 classes Is
scheduled to take class on Tuesday but he is
neither Chandan nor Dinesh. The teachers who
Gand? classes are scheduled to take it on
?“m:utiw_. days. The one who takes classes
"snscsr?;ﬂ’ﬁ"\' doesn't take 6 classes. Chandar;
a'han‘suc?asm take classes on the next day o

ses, refers to teach on
uesday ooE ds Emraan p

riday,
whit is th dad
Dinesh 5 ot2! number of classes attende

and Emraan ?
A) Ten (B) Four
() six (D) Seven

l."

60,

61.

62.

( ’ '

J ( M " “WA

L L TR T A I T

RIS LA s o

T G L B R B T TTT I T P N
LN TIREEN L TR T Wy

(A} g0 [y a1, e
(€) 4at (11} aua i !

AR
ifte

BT It i Ny gy RITR I PrI
TP TH UL Rt

(A "'i”"lllll" (14 e g
() telibet (L) vy
AICUR SRR TR PRI
M ;L.}".l CE I T P '|'“'|l|"i1|'-l-1 i

Wl & T R T

(A) 2l e afudy

(63 fstmet sttert abifo

(C) v, U, (APARITTE g
(D) Ukt 18 w1d il

A 3 faene wana dahla G oy, iy
o yard 44 b s b dar a e e g
(A) wfefdare (B) vy

() uma faae (D) ey

A Ru e g a ufed s s w
Reafefaa ve4 & gar Af |

@: Rwgeh RSt @m sifafSia, faeg, daq, faaor,
U ol wiEH ) @A 4 ufqan a4 v
HYTE e N0 bl ety ol & fequ faviffa 2 |
YA Riareh ) faft R o detg o & 1 3
2,3,4,5,63M 7 ) q&qr 1 gty o) ) i
® Qfth ug snmavaeh Jé  fh ge) g i 6 |
forA1g 5 et olelt & uig 3 4 ) whwan @) Ay
o1 R 3N A @ A ) | wffia e 4
HTE Adl R A 3 g 44 | fory %Ilﬂfh ehl
7 FAH R A1 ¥, I8 Huerqu @) g ol
o g8 9 ) deq ¥ o g A fodw & 120 [,
R 6 3l 2 Fetmw S Rt 2, A i &
Rt 3 ¢ 3 Faras, <t wifan ) aena o &,
6 T T o # | Se &1 aetr@ o &1 fuifd
RTE SwT 35 avetra s syl R & | i i
A PR ) yarar e @ |

A afye ) e HE1
ﬂﬂ“’htni:mmwm F

(A) Tg
(C) ®;

1 Y it o

(B) WX
(D) W@

Y9
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63. Sponges are mostly
(A) Bipolar
(C) Polar

64. With which of the following countries/
groupings, India launched ; a2  bilateral
agreement “Partnership to Advance Clean
Energy (PACE)” ? _
(A) United States of America
(B) European Union
(C) Japan
(D) Australia

65. A clock uniformly gains two minutes per hour.
It is set correctly at 12 o'clock in the noon.
What is the actual time (approximately)
when the clock shows 6 o’clock in the
evening on the same day ?
{A) 5:20p.m. (B) 5:48 p.m.
(C) 6:18 p.m. (D) 5:52 p.m.

(B) AsyMmetrical
(D) SymMmetrical

66. The point ex-ante aggregate demand is equal
to ex-ante aggregate supply will be

(A) Excess supply (B) Disequilibrium
(C) Equilibrium (D) Excess demand

67. Inflation can also be seen as
(A) a reciprocal phenomenon
(B) a non-recurring phenomenon
(C) a no-reciprocal phenomenon
(D) arecurring phenomenon

68. Which are membrane bound vesicular
structures formed by the process of packaging
in the golgi apparatus ?

(A) Lysosomes (B) Filosomes
(C) Lysons (D) Lysokines

69. What should replace the question mark ?

Al 7 Iwm ||l wTa20
9 H 6 L 4 N
1 G 13 K 8 2
(A) O (8) 1
T (D) p

70.  What is the movement of free organs/ <
organisms in response to chemicals 7 ¥

(A) Phototaxis B) Th xis
(C) Chemotaxis (D) Nai:iTOta

Y9 .10-

63.

64.

65.

66.

67.

69.

70.

CMES - 54
woter arfermer g1 &
(A) ey (B) R
() gl {51 S
v 3 Prfrfias # @ fre 3w /ag & @Y o

Rusa wstar ‘TR g CediE FH T
()" =t o foa ?

(A) TIH T aafE EEE
() Tt oy
(€} X

(D) FATegferan

e ET s AR R A e R i g W@

12 99 S & @ fen @ | W R o= Tw

ﬂsﬁsaﬁwﬁa’mﬁm(aﬂm)wm?
(A) 5:20 p.m. (B) 5:48 p.m.

(C) 6:18 p.m. (D) 5:52p.m,
fratfr wwu win P g % S R,
feéig &m '

(a) wfter g (B) SEgEH

(C) Hge (D) aferes i

Hgrehifd aftget ¥ &9 § 3 =
qHal 8 |

(A) Sgerdt

(B) 3w

(C) =gkl e

(D) 19w

Miestt v 3 AR ot s gro A et 2
At ¥ SRrper s B E 7

(A) SEEE™S (B) Treira

(C) wgE=g (D) wEEIRFw

W o8 % T v v s 7

A 7 M. 11 H 20
9 H ) L 4 N

i

17 G| 13 K 8 ?

(A) O (B) I

QT (D) P

Wt ot 8 g o /sai R e ?
(A) SRR (B) wHTfRE

(C) FfRaa (D) M=
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I LIGHT can be coded as 1297820, then DARK

can be coded as
(A) 4111676
(C) 412376
If 5" January 2001 was a Friclay, then
251 Dpcember 2001 was a
(A) Wednesday () Thursday
(C) Tuesday (D) Monday
Read the given st
type of soil related to all of them.

i Itis also known as Regur soil.

ii. Itis generally clayey, deep and

impermeable.

iii. It retains moisture for long time.
(A) Alluvial soil (B) Black soil
(C) Mountain soil (D) Red soil

71.

() A8l

(D) 412300

72.

atements and identity the

Inflation in the price index excluding food, fuel
and other volatile components is called as

(B) No inflation

(D) None of these

74.

(A) Tight inflation
(C) Core inflation

It describes how “any action that is repeated
frequently becomes cast into a pattern, which
can then be performed again in the future
in the same manner and with the same

economical effort”

(A) Habitualization (B) Amalgamation
(C) Consolidation (D) Coalescing

What will be last digit of the 3 number from top
when the numbers given below are arranged in
descending order after reversing the position
of the digits within each number ? (133 fw]
517, 325, 639, 841, 792 At
(A) 5 (B) 7 i 0]
(C) 3 (D) 2

—refers to the operating system
that is self-contained in the device and
resident in the ROM.
1{23 Eﬂm\?gdded Operating System
(0 8 Ultiprocessor Operating System
o) atch Processing Operating System
Multiuser Operating System

L” Whigh of the following fruits, the
Uminous seeds are present ?

(C Mango (8) Apple
) Papaya (D) Pear

75.

76.

7.

78,

-11-

7.

2.

73,

74.

75.

76.

7.

78

CMES - 54

5

Bl DARK #1 ae

" ad S L2 EI0
"1y

o
l' s

I'"' Ul {
(A} 4111070 (1) a11811 1
() 412370 (1) a1234¢

il 5 gt 2000 B 2kl ay g fagian

-*ll{]]I ol "
(A) agutAV! (B) 1pheqn
() ittt %) S
i«:tl_ ||||__rt-"|"ll i o A5 g Heaferey furdy 3,
Uehia r"!l ”ul:'”'_'l' i | d
R R S LT TR U — 2
i, e 3—?\"!3[(1"11 R fﬂfl.vh, medy st ERRe e
ad e
i, % s S do Tl s vy 3
(A) sete i) (B) #Freft furd)
(C) TETE (D) & fd

v, S Sl S it e A fra
= qed gl 1 whifd FEATT 2 |
(A) @ garedifa (8) Txehifa T
(C) 3T HEwhifa (D) o B H
1% 9o T & o 8 S o SR S smam
JeE Sl 2, T YA 1 aed i @, S vfas
7 i @ 3¢t 70F A 3t 36 snfels wamm & @y
s gwa 2’
(A) 3TTEEH (B) fasm
(C) WA (D) sHrAfgT
ST A g g F 3ifaq 37 @1 g e A @
¢ el A T 37 & i ofi ) fufa
I % d1e IFAUE shH T sTaferd fapar s @ 7
517, 325, 639, 841, 792
(A) 5 (B) 7
(C) 3 (D) 2

&1 wed 39 e Rrem @ & |
fearga o wriqul gt ? it RoOM H AT R |
(A) a2 STqfen fren
(B) feesiaer sqifén firen
(C) = WA aqifen Ry
(D) Hieegwr amqifdn faeen

. FefiRe 3  favw ot 3 gt et g T & 7

(A) 3
(C) Tfren

Y9
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79.

80.

81.

82.

o of
is the daughtt : B, A &
A+ B means Al " y Al e
ans A IS the husbant
mee b

the brother of B
fpxQ+R then whic

S
true !
(A) Pis the father of R

(B) Pisthe uncle of R B
i fR A
C) Pis the son O I
{‘m p s the brother of R DN
The use of the Internet or other electronic
means to harass an individual, a group of
individuals, or an organisation is termed

(B) Cyberspace
(D) None of these

 of the following s

(A) Pornography
(C) Cyberstalking

Consider the following statements about
Special Economic Zone (SEZ) of the country.
|. They are industrial zones being set up by
the Central and State Governments in
different parts of the country to attract
foreign companies to invest in India.
Il. Companies who set up production unitsin
these zones are exempted from taxes for
an initial period of three years.

Choose the right option given below :
(A) Both the statements | and Il are correct
(B) The statement Il is correct

(C) Both the statements | and Il are
incorrect

(D) The statement | s correct

The average weight of 12 crewmen in a boat is

increased by 1 kg, when one of the
:rﬁ:\:‘-i:a\:hzjﬁ weight is 55 kg is replaced by
- AL is the weight of that new

man ?

(A) 59 kg

(C) 57 kg :g; 60 kg
o 58 kg

is a col|,
Programs that together cCt‘Ion of system

operation of 3 ¢q
(A) Memory ynjy
(B) Application Software
(C) Operating System
(D) None of the above

-12-

79.

80,

B1.

82.

83.

U

CMES - S4

AvBebl S RABAGN Y | A~y wd )
A BT R LA < Bt B A g sié b |
Al e o jy ot S & 8 fq-m

Hey g v u':_,‘f._‘ . \

(A) P, R 1 fiyar ?

(B) P, R bl =rell &

(C) P, Rl g &

(D) P, Rl wrd

il eafdd, «afiaal % wie a1 us s )
WA A & fae §etde ar s et we

& 3y hHET AT 2 |
(A) ST (B) HIgaEE
(C) HrEsrEifF (D) $38 & #1é 44

30 % o anffe g (wa d.5e.)  ant i
frafafiaa suat w fam =t
. 3 3itenfie a7 &, R u &
fafira st # g af U= wwwRl
g0 Tfug foma @ arfe v
A e A % fore foeft shafort
1 TehiYa fohan S |
I, 37 81§ Ieare e Tt &0 At
1 = i T A v sty %
fremigAme]
Frafefea @ adt faswer 71 s &
(A) e | 3 ) A1 | &
(B) o |1 W&l &
(C) e | 3 11 1 et 7 &
(D) U | wEt B

T A9 3 51 T 55 g A fiw B @
70 =t @ e e e 8, @ &
3 AR A F ol
(A) 59 form (8) 60 ¥
(c) 57 f&m (o) s8

4
foreg s o e A 1
R e s w3 i ¢
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84.

85.

86.

87.

OFAC
)
B = A0!

90.

The report on children under nutritionis given
by NFHS. NFHS means

(A) National Fixed Health Survey

(B) National Family Home Statistics

(C) National Family Healing Stage

(D) National Family Health Survey

| ogistic growth model is considered a more

realistic one”’ because

(A} population become limiting sooner or
later

(B) resources become unlimiting sooner or
|ater

(C) population become unlimiting sooner or
later

(D) resources become limiting sooner or
later

The Equation of GDP,, is

(A) C+1+G+X-M

(B) GDP,,,— Dep.

(C) GDP,,,=R+W+i+m

(D) GDP,,,— NIT

The United Nations Secretary General is

(A) Antony Glamark (B) Antony Carnad
(C) Antonio Guterres (D) None of the above

Which of the following is an important steel
city of the United States of America ?

(A) Ohio

(B) Lorain

(C) Colorado

(D) Pittsburgh

is a self-replicating program,
which is self-contained and does not require a
host program.

(A) Virus

(C) Malicious code

(8) Worm
(D) Torjan horse

Who among the following won Ostrava Open
WTA Doubles Title in 2021 ?

(A) Sania Mirza and Kaitlyn Christian

(B) Zhang Shuai and Kaitlyn Christian

(C) Erin Routliffe and Kaitlyn Christian

(D) Sania Mirza and Zhang Shuali

84.

85.

86.

88.

89.

90.

13-

CMES - 54

alleqep) 1 -_q.ﬁl’i'ﬂ 1 frard NFHS 38 8 | NFHS &1
3 @ )

(B) Yzt Figeh 2m wfefea

(D) JyAd Hfireht ey '}

i 976 HTee 1 sifvrsh aredfass @
e 8, FE

(A) e ¥ a1 < A Hifiasr @ 9
(8) GaTe T A R Sl & s &
() FAEEAT YIS a1 S el 8 o &
(D) g T a1 R Hftawd € o #
Gapwﬁmﬁwﬁ

(A) C+I+G+X=M

(8) GDP,,,— Dep.

(C) GDPMP=R+W+i+n

(D) GDP,,, = NIT
HeEd T, o HETHid &
(A) G IR (B) T FTiE
() T mem (D) 3ot & | &IS TE
frfiag & & FH-a1 G0 TA FARH 1 T
HEU] TeTe Y R 7
(A) snfean
(B) &=
(C) FreAlt=
(D) Tt
O TR s &, ST ST
2 3R R & B Y i STavEa T R |
(A) IE () =
(c) mfwfira e (D) 2w

2021 3 frefrfad & @ fome sivegran ol &5,
A T fgara far d ?

(A) W firsth ok refirm fsfRea

(B) T 3§ afv ¥eform fnfRaw

(C) WA Wefere ain defera fnfeam

(0) Efan forstl afv g O°

Y9
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Lot i hars |

ne s S been: oiver

| estion, "'mtlr'tl}lﬂ of ltlhlll I'Iiw I
Iy the g i TR : oo

L i active/passivé }r.i-'ll-il the O wWhich hyest

s abve

ein l*-l'-‘.i\n*/.u Livie
the same

I:W"” JHI
G (R
volee

when Rake

A Wht'nil.lku'-.i !
2 arrested by police.

oy Rakesh arrive
) :‘:rll:::llvdhy police. .
(C) When Rakesh arrived h:lunL, © Was
being arrested bv_pnlue_ L
(D) When Rakesh arrm.'tr!_lmim »he had
peen arrested by police.

92. Fill in the blank with appropriate word trom
the alternatives given below.
| found him standing __

(A) in (B) among
(C) besides (D) between

93. Write the word denoting sounds made by the
noun subjects, from the alternatives given

sentent

ey
sh nlm-(lImnu-,pnllt i el et
. 1.1rriw~c||m|m, e was

o« home, he iy,

the crowd,

below.
Hoofs
(A) clatter (B) chatter
(C) crack (D) crackle

94. The following sentence contains grammatical
error or idiomatic error in it. You have to find
out that part of the sentence and choose the
alphabet of that part as the answer.

The angry at being left out of the bonanza
is palpable among employees of the
Organisation.

(A) is palpable among

(B) left out of the bonanza

(C) employees of the organisation.

(D) The angry at being

95. In : -
fol}i;:efg”gﬂgg question, there is a statement

ree starters which are denoted
ﬂrs?'ifwaﬂiﬁ‘ Each starter is a group of the
completion ;55 of a sentence, Each on proper
Meaning a4 11 PPOSed to convey the same
Which starter ls‘}! oriFina‘- statement. Find out

Thaence (g) t.ac:u“ O'M grammatically correct

€ original “atemm? the same meaning as

Despite ¢,

to joln tp:ng his

Success,
3. He coy|
b. Huwevgr ?Ot attajn

C. In spit Mying his by,
(A) Either g r1ng... "t
) Either Org (B
l

D% dniy b

be
‘ampaig;ft ﬁ“ Persyade people
* "€ coyld not attain

Y9

90

97.

98.

99.

100.

(=il

CMES - 54

e hy aqimn

S T L I OO [ Y [ | PR S PP O
(A) sl gl ebdtedeq, fequpnm

(B) sl eba i Fasimor

(€) yorldanvgen, o

(D) 21 4 418 4]

[=] 'I'F.‘
it ;ﬁ*r
(] p4i (5]

Wl o, et igee) sile eauraedr faa
b Seitel siid & 7

(A) feareqop

(B) st

(C) Hd-Am

(D) 3 @ g Tl

e’ yfeedn ieg @, Iush1 Bifam w9 2
(A) ]

(B) Fr-ht

() garh

(D) g8 A g el

‘s’ @t faey vree @

(A) &4

(B) aif¥yen

(C)

(D) ¥ & I¢ FE

o] e ol hEd B 7
(A) maﬁmaﬁm&mwummw
qg?{amaﬂuﬁ'lm%l

(B) Hﬂima&m%ﬁﬂwﬁﬁm%ﬁﬂﬁ
F Y B | .
(5 e, {C}Wmadmﬂ%aﬁmmﬁww
€|
(0) g & H 7

V—
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